=
=] |

( IZ1R

it

& 4

==]
= wE R

uu]'{

> il il 2
itk A

B £ ol 1T HE I %1
(BACT)

'

TR mEEN BT

. HrmiEs
. THEH
. PRIEE
. BfEHT

B £ ol 1T %915
(BACT)

v

SARIEERE

BT HRIEE

v SIEHENE LR (X#eKR) ERiECHRBEIRERERR - o8
oo/ O =~
TmnE°
RIS FEBEHE
[
v v |
HATRRERE REBERREEE .
(Kt e t Area) (Nofattan?rﬂ:ft Area) = B it
| ! Sy
v v ; ! P - L |
MR/ EE SRR B E 53R mER/ & TSR s3Iz . HEETIE ;
l l l l e — t ______ -
BEF 53R

- HERRE

- TRE
- RRIRE
- B{ESFO

Ao O EDSRBEE
T ikigE B R KRR
HIm B2

v

v
| HESRYPHE |

Lo

B3z 5

KITEh I fE M B R
HIiMEREERZ -
=RISRE

A

EEABNIRZEE



[

SREteHEERTE5 —HHEEIHNIRRN
v REEESRRFTE (HRELR)

EI : NWE/F

ERSRY)

SR ) 25780 73970 84228 28,970
=L\_H3FBQE(B) 15778 49370 59,196 22,228
15031 4693 56252 20841
61% 67%  70%  77%

IN



SENERESERIFT=E_BiE

v REBFEZERFENEINEFAS _HER N E - LRVIERIINE

-

B : RE/E

1058 9,395 21,830 34,718 12,880
=5 HH
%TET)Q_ 9,471 23,806 35871 12,625

o8]



SENERE=sERT=E _fEENE=

v B_HERTEHIRER : BEEESFERERERENEZETUFS

BACTFRAIFIE SR GRE -« HERHIRIZR 2 BEU A 2S5 HEA 1
zr:Hq - oL ZHEE

EHIRE = S8 _HIER 0N E — FSBACTRZHINE

B : AE/FE
78 &35 84
105 ERHEN = 9,395 21,830 34,718 12,880

RO HEE (616 %) 15,778 49,370 59,196 22,228 KIEMR
IEE B = (285%) 747 2,438 2944 1,101
15 € Bl B EE B 5% 5% 5% 5%
BEFHNE 15,031 46,932 56,252 20,841
O HEE (607X - H1419{E232) 9,471 23,806 35871 12,625 KGN
ISEHIRE (270K + H581{EHE) 1,206 5,437 8,802 922

=W 15 7€ Al ik EG {31 13% 23% 25% 7%

HEEHNEZ 8,265 18,369 27,069 11,702
5 HiRERR o HEE/105F ERHEN = 101% 109% 103%  98%
Co SR TS S| 88% 84%  78%  91%

|



BRESHEEFSRUZHITENRNE EukE: BRE)

100,000 B FFOHINE
n E-HEaE
U BERHIRE20165E

B E-HZOR(ESR)

75,000 B ETHEERSEHNSE

50,000

25,000
12625

e 11702

8265

KB&%
(BEfi: 208 | )

IR AREASEGHE



v RIBBEE TR

N ERRCMA20E - B EAEYAI48 LN -

Lﬁﬁ#&

NOx p/N

RS

VOCs : 482K

o9

IR iR IE 557 AR
BB B R TR 2

244
= R A 8B

RARIBS _TIERE - AFCEM=R2TE
» T BEFNENIS ESURVIRIR S -

FI=4h

zf 30% 10,0005

Xig— ﬁ‘ﬁ&' HEIREAE
NOx : LATAF  NOx : 0.442FF
VOCs : 15832  VOCs : 4.752F



=h

(L

SEEEEmFTSEBERERBIEE

v’ #i 45 PR 4 HF B+ F 0O =

— B 3 B M5 S R
/y |.J,> I 3EEIRBER R -

T iV AL THRAHTE -

=
REBACTIERENHIE

ﬁ> DUEBIR i B E R

_ TR~ HRRE N B



——

B R=EARHRE

SEASERHETEE

IFE IS
DHETRE_BHiEEEEG - BEREZ

Bt ZEE ;5 iR T IR E 24.5%F - (BfBizHEAA[E -
104~ 106 FERBENE=L98 HE{T#EiZ HEd
— ~— = . > /N \E‘ ,
=Rl ERREa | or =208k 107.07.01
SOxX= 220/ AT, - :
L80%Z/-57K/)? J\ s :
(1363 - 691{EZI2E)) NOx = 42022, - 111.12.31
= VOCs = 3072 li e
I N =+= g /\ \E [ ’
= RSN B e | 20> ToP=100IRS - 108.07.01
\ =~ = s 220 > SOx=150"AMgsY, - :
Z80%E90% Z 5 R A :
(60% - 130fEZI2E)) 420 > NOx 2 2302 %, 112.12.31
= 30 > VOCs = 20/ i e
N
=Rl E R | o < 108K 109.07.01
SOXx < 150/AMES, - )
%90%:100%2/-5*/)? NOX< 230//)\\[]@:.55‘2 ’ :
(411% - 589{EAHIZE)) i 113.12.31

VOCs < 207 g

|co



